TD %% — WEHREI

N o et 3 HELIC.
EBN MR R EITRETB T 2R A CHELIC
C AEB#EEE
|
O EimE AR .
B : kof
IR BE 313 SR ZRET (kgfiom?)
(mm) (mm) om? 1 2 3 4 5 6 7
6 4 i 0.5 — 1.0 1.5 2.0 2.5 3.0 3.5
i 0.3 — 0.6 0.9 1.2 1.5 1.8 2.1
10 6 i3 1.5 = 3.1 4.7 6.2 7.8 9.3 10.9
i 1.0 - 2.0 3.0 4.0 5.0 6.0 7.0
16 8 H#E 4.0 4.0 8.0 12.0 16.0 20.1 24.1 28.1
i 3.0 3.0 6.0 9.0 12.0 15.0 18.0 21.0
20 10 H# 6.2 6.2 12.5 18.8 25.1 31.4 37.6 43.9
Eava 4.7 4.7 9.4 14.1 18.8 2885) 28.2 32.9
25 12 HE 9.8 9.8 19.6 29.4 39.2 49.1 58.8 68.5
# 7.5 7.5 15.1 22.6 30.2 37.7 45.3 52.8
32 16 HE 16.0 16.0 32.1 48.2 64.3 80.4 96.4 112.5
7 12.0 12.1 241 36.2 48.2 60.3 72.4 84.4
40 20 HE 25.1 25.1 50.3 76.5 100.5 125.7 150.8 175.9
E i 18.8 18.8 37.7 56.5 75.4 94.2 131.1 131.9
O D EEARREE ; BRREN - BEREEEDREHMREHMETE - (KH5B70% ~ 80% )
C MK C EZEHEBERESR as
B : mm
B £I4E (mm)| 96 ‘mo‘ ms‘ zzo‘ms‘ gaz‘ @40 HI1Z () B2 EEEE
1EENZ K EN L @6 10203040+ 50 0
(R TR @10 | 10°20.25.30.40.5075+
EEBHHKE kol o (kPa) 1~8.5 (100 ~ 850) 100
= = - @16 | 10420-25:30+40.50 75+
=AERRAN kgf / cm? (kPa) 9 (900) 100 ~ 125+ 150 ~ 175 ~ 200 ~ 250
(B EEE oc 0~60 @20 | 10420-2530+40.50 75+
- 100 + 125~ 150 ~ 175 + 200 » 250 B
e EREE mm/s 50 ~ 700 102025304050~ 75 ~ 50
e REmEE 5~0 925 | 400+ 125« 150 ~ 175 + 200 « 250
P —— 1020251304050 75 ~
iR ImEg M3x0.5 M5x0.8 PT1/8 @32 | 100+ 125+ 150 » 175 200 » 250
RELKE fft B PR @ao | 1022030405075+ 100 -
125 ~ 150
C FTIETMIEMR R
C TD ) C 10 ) x 50 )-(Csb| 2 )
\ \ \
| mEng | [ mER€ | | REGR | BEB%E |
\ \ \ \
6 — @6 mm @6 — 10~ 50 mm = =
10 — @10mm @10 — 10 ~ 100 mm
16 — @16 mm @16 — 10 ~ 250 mm ]
20 — @20mm @20 — 10 ~ 250 mm
25 — @25mm @25 — 10 ~ 250 mm CS-308 SE|2 CS-9D Sb|2
32 - @32mm @32 — 10 ~ 250 mm e RTBEI5E (CS-30E) MRaDSE © THIRAESR
40 — @40mm @40 — 10~ 150 mm [SD] : i pE S8 525 (CS-9D)

6-10.2

¥ 06,040 TiE A

FESE 50557 (CS-9B)
CEREE

1 fERAERS

2 {ERkAERR

[N]



TD &5l — WEREI

SR B RAEMMEER CHELIC.
@{ -+
o =
= I
IEFOOOOOD
C SHEBB/RIMKR
R SR B H % B 4w 5% 15 H =1
01 g EER 11 EERAR ifid e B2
02 L1 R R 12 BAER ifid I B2
03 Bl E SHE® 13 AIZEORR ifid 8 B2
04 % = HED 14 BEORIE ifid 368 B2
05 EOE HE R 15 HEERNORIE ifid o B2
06 i BE IR sFREE 16 il EE
07 W 8 Wt/ RS 17 7B HRIR A A2
08 i 352 JEE HE® 18 SRR A2
09 B B #/shead 19 2 0E R
10 EEE 1$RE / B 20
SO 51 :TD 06,010,016,020 BBI K A ;TD 025,032,040 BRME AEES -
C BEROER
5 B EEREE B FR3EER #BEORIR RIEEORYR EZERNORIR
A mm— 2R 2 2 2 2 2
o6 MYA-3 (4 PCS) EM0407 5% 1.0 5x1.0 —
210 DYP-10 (4 PCS) EM0609 8x 1.0 8x1.0 2.9 x 1.0
216 PSD-16 EMO0811 13.2 x 1.5 13.2 x 1.5 8 x 1.0
220 COP-20 EM1014 17.5 x 1.5 17.5 x 1.5 10 x 1.0
225 COP-25 EM1214 20.8 x 2.0 20.8 x 2.0 12 x 1.0
@32 COP-32 EM1620 28.5 x 2.0 28.5 x 2.0 16 x 1.5
340 COP-40 EM2025 36 x 2.0 36 x 2.0 20 x 1.5
C EE
B 8 (Ko
irl K 7 & (mm)
(mm) | 10 20 30 40 50 75 100 125 150 175 200
o6 0.1 0.1 0.1 0.1 0.1 - - - - - -
210 0.10 0.11 0.13 | 0.14 0.15 0.19 0.22 - - - -
216 0.31 0.34 0.36 | 0.39 0.42 0.49 0.56 0.62 0.69 0.76 0.83
320 0.46 0.49 0.53 | 0.56 0.60 0.69 0.78 0.87 0.96 1.04 1.13
925 0.77 0.82 0.87 | 0.92 0.97 1.09 1.15 1.34 1.46 1.61 1.76
@32 1.51 1.56 1.68 | 1.78 1.87 2.08 2.32 2.55 2.77 3.00 3.25
340 2 2.2 2.4 2.7 2.9 3.1 3.4 3.6 3.8 - -

6-10.3

TD
UL T

TDX
ST ST

TDXU
Wi EL

STU
BERI



TD %5 — WEhREL
Wit RESEEY cHELIC

C BHEEEAERM
20.5
19.6 =
TD 40
—~ \
z 9.8 TD 32
A ; N
B 40 TD 25
& T TD 20
e = A ©—1- e 20 I~
et ’ —~—
1.0 D 16
— TD 10
0 6
20 40 60 80 100
RELFTHE (mm)
C BHERE
TD 26 TD 210 TD 216 TD @20
E /E« fg 1.5 E 1.5
£ 15 £ 15 £ £
- - =~ 1.0 ~ 1.0
] . 2] T ]
% 1.0 m 1.0 % %
= = = 05 05
0.5 0.5
0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
RELFTFE (mm) RELITFE (mm) REL1TFE (mm) KEL1TFE (mm)
g TD @25 TD @32 TD 940
nm ~ 15 ~ 15 ~ 15
1S € €
& E E £
= 1.0 1.0 1.0
= ] ] L]
& 05 = 05 X 0.5
0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
RELTFE (mm) FELITFE (mm) RELTHE (mm)
C EETImE T R~ C EEER
© ABEEEZMTERX
2-PC PA0.15 PB_ .
AEE EEREEE
[ E—— RN - - ,1,
S 1 : —li-
. i S S HiH
iy * \m /
' L1
o
&9 N= = =
T FC3%| pa | pB PC PD| PE | PF |21 PH BERRI =TS AEE
26 13 | 1 @A 028 FEAO5 FE27|35| 4|2 |35 M2.5%0.4iF 5 ﬁ T—
210 |18 | 1 |BA @45 (X708 FE43|52| 6|3 |52|Max0.7 E10 SIRAPIEIESS
@16 [242| 1 |@AO55 IFAO9 FES556.2| 8| 3 |6.2|M5%0.8 F12 ‘ T N U
| | ‘ o[ b~
220 (282 1 {@AO6.5 FEAO11iRE6.8/82|10 | 3|82 M6x1.0 E15 = /&,\
@25 (342 1 @085 FILO14FES5[10.2 12 | 3 [10.2 M8x1.25 F15 & F B3
@32 |44 | 1 BAO85 AFAGITEE |14 |16 | 3 | 14 |M10x1.5 F20
@40 | 55 |2.5 @I G105 FEALG17EE11 | 18|20 | 4 | 18 |M10x1.5 F15

6-10.4



TD &5 — FMAFREL
SMREFRRT - 26

CHELIC.

CTD @6 x [

38.5+( {142 x2)

12,5 7+ 1712 31.5+172
10.5 5.5 5 1752 14 14
—

13

2-M2.5x0.45P i@

2-M4x0.7Px6 i

M3x0.5P
BCE R

2-M2.5x0.45P Ei@ 34:5

() g
i ,,,} ,,,,,,,,, ]
i ,7,} ,,,,,,,,, —

2-@3.38i#
1L 6x3.23R

6-10.5

@ TD 6 x[JST

TD
UL T

TDX
ST ST

TDXU
Wi EL

STU
BERI

STM
AR

STX

BRI



TD %1 — EhFKEL
SNEERRT - 910 CHELIC.

CTD @10 x [ ]

@ TD10x 1ST

il

42
41
3492

;J_?‘-
@

+_'}_,,

60+(17#E x2)
14+17%2 46+ 1772
B ‘ A
7.1 1R _ 6 E
| ‘
] e

|
sge
18
|
i
4
©
!
A0
P
4
34*°°
|
Wi
i

2- M3x0.5p EiE

26

T o \
P 2-M4x0.7px5;%
11 2-M5x0.8p 11
BCEHRER
0 4
S T & —
4-M3x0.5px5 ;% 5.2 2_@3.5857 » $1FL D6x3.3 3F
7
¢
| g
....... _@_._., <
£ 2]
Lz
A
SR ENIR AR 2-@3.5§F - 11FL 96x2.5 %

RDE:isEES

O RYE
e
ge om 10 20 25 30 40 50 75 100
A 20 30 35 40 50 60 85 110
B 18 18 18 18 18 18 18 18
E 28 33 35.5 38 43 48 60.5 73
P = 15 20 30 40 65 90

6-10.6



TD &5l — WEREI

SMEERRT - 916 CHELIC.

CTD 216 x [ TD 16 x (1ST

_ TD

71+(17F2 %2

({182 x2) AL
17+ 1718 54+17%2

22 B A
B [ TDX
20 81 7% _ 8 E R

‘ I

] r
- et TDXU
IN — s E— B WERE

< ol ;r‘\ ;;, N :i
R e e e
8 : o STU
— } BAR
2-M4x0.7p&83E P 2-M5x0.8px6;%
STM
BARE
15.5 2-M5x%0.8p 15.5

g3k STX
BARE

TP

4-M4x0.7px5 6.2
R i
— 3 t 7
=®
A i
L L ?,\\
TR -5
a R
L I
FAENIR AR 4-04 5887 - #1Fl 98x4.4%
DEGeE =

O R~t&

g hn#%n 10 20 25 30 40 50 75 100 125 150 175 200 250
A 20 20 20 20 30 40 60 80 100 100 100 100 120
B 22 27 29.5 32 32 32 34.5 37 39.5 52 64.5 77 92
E 32 37 39.5 42 47 52 64.5 77 89.5 102 114.5 127 152
P — = 40 40 50 60 80 100 120 120 120 120 150

6-10.7



TD &5l — WEREI

SMEERRT - 920 CHELIC.
©TD 220X ——
75+(772 x2)
20+ 17%2 55+17%2
25 B A
[
23 10|__1_ 7% _ 9 E

55 +0.2
|
I
i ©
|
44t02
28.2
| 1
| ]
T T
L]
I
i
|l
P
RN
Lo || |
|
B
i T
55202

o v
©| © T
°
L] 5 2
2-M4x0.7pEik P 2-M5x0.8px6 1%
16.2 4-M5x0.8p  16.2
REER

4-M4x0.7px53F 8.2
M [iape]

|
i
1
|
b
i
|
|
@
I
i
|
i
552

SHETIR AR 4-@4.587 - 11 98x4.43%
Al RTTRZ

O RYE

1_Jnrﬂ%in 10 20 25 30 40 50 75 100 125 150 175 200 250

20 20 20 20 30 40 60 80 100 100 100 100 120
22.5 27.5 30 32.5 32.5 32.5 35 37.5 40 52.5 65 77.5 92.5
32.5 37.5 40 42.5 47.5 52.5 65 77.5 90 102.5 115 127.5 | 152.5
— 40 40 50 60 80 100 120 120 120 120 150

A%

v mw >

6-10.8



TD &5l — WEREI

SMEERZ R - 925

CHELIC.

CTD @25 x [ ]

83+ (1712 x2)

TD 25 x[IST

21+ 1712 62+ 1742
31 B A
29 1) 1 178 9 E \
\ - L \
¢ < || & %D
A28 J==f 8 98918 o
& = ———
N
- (CHELICS) _1 o
{D' L Q | {é} ‘
p 6-M5x0.8px7 ;%
19.5 2-M5x0.8p 19.5
[i=EEEE
@L |
S Nﬁo — »
S = __.__.@.. _________ ,@. S
4-M5x0.8px53F 10.2
A k]
— mpy:
N u
B . L
1 1 %
ST R £ = E—c— E—
T T
Na L
L TR
SAENIE AR 4-04.5 7 » FEF ©8x4.4 5%
DECeE =
C R
fege ~mm 10 20 25 30 40 50 75 100 125 150 175 200 250
A 20 20 20 20 30 40 60 80 100 100 100 100 120
B 26 31 8815 36 36 36 385 41 43.5 56 68.5 81 96
E 36 41 435 46 51 56 68.5 81 93.5 106 118.5 | 131 156
P = - 40 40 50 60 80 100 120 120 120 120 150

6-10.9

TD
UL T

TDX
ST ST

TDXU
Wi EL

STU
BERI

STM
AR



TD &5l — WEREI

SMEERZ R - 932

CHELIC.

CTD @32 x [

92+ (1772 *2)

TD 32 x[IST

26+1712 66+ 1712
£ |
40.5 B A
141 1782 11 10 110
! I
8 3| 2 R ki — S48 —E
© @
L5 © & .
I
2-M6x1.0p&if p 6-M6x1.0px12;F
20.7 2-Rc 1/8 20.7
(=g
&L‘f ) jl[T
e e —1
2-M8x1.25px10;E 14
%o
0
AR 4-O5.58&7F - 1EFl F9.5%5.5 R
DEC g
C R
g n?\i;n 10 20 25 30 40 50 75 100 125 150 175 200 250
A 20 20 20 20 30 40 60 80 100 100 100 100 150
B 28 33 8585 38 38 38 40.5 43 455 58 70.5 83 83
E 38 43 455 48 53 58 70.5 83 95.5 108 120.5 133 158
P — = 30 30 40 50 80 100 120 120 120 120 150

6-10.10



TD &5l — WEREI

SMEERRT - 940 CHELIC.
CTD @40 x [ ] TD40x|:|ST
101.5 + (17#8 x 2) ™
31.5+17%2 70 +17%2 T
50 |16 1752 E |
48 3 125 B A TDX
T
N o> | © [ oxo
,,,,,,,,, [ R N TR
8 2 8 8 8 4 @ﬂ%‘:}*@* ******* @1 &
o3 = ‘ STU
8 & A Bam
2 - M8x1.25P &3 P 6-M8x1.25Px15dp STM
Ba R
% 2-Rc 1/8 e STX
[[M=3E5E] BARE
& « T
et s _ N,
e o e - )
2 - M8x1.25Px15 3
== 18
[ope]
5
| e ——
,5:@, ,,,,,,,,, b P
SAEIRAR
HGRE 4- 6.8 97,
EFL11%x6.5F
C R
a1 10 20 30 40 50 75 100 | 125 | 150
5k O
A 45 55 35 40 40 65 65 90 110
B 175 | 175 | 325 35 40 40 525 | 525 55
E 40 45 50 55 60 725 85 97.5 110
P = = 65 70 80 105 105 130 150

6-10.11



TD &5 — FMAFREL
BESERRRDERE cHELIC

CRERCEERAERT
© CS - 30E ZETHR © CS - 9D(B) 2E T &R

O BESR R EHEFEE
© CS - 30E © Cs -9D (B)

[ TR =
TR FERIE

[

=
&
Y

&

T

& e
B (i
EIG

REZE(R)

mR) BteREE]| BEER)

BERELE SEBELE
[>] Egﬂggﬁ B : mm
FRFESSEE I ARE L - EIREREM e P Cso0(8)
BT R FERSRY » SRR (R ER -
RRENEZ 86E ; TRt BRI RN = FEES RELELE |Eh{EEEE(F)| BFEZ= (R) | EhEEEE (F) | B FEZE (R)
RI#975 0.5mm A5 2 385 o 6 - - 5 1
10 10 (8) 1 8 1
C FEEHE 16 9 (5) 1.2 8 1.2
BIREMENMIZENMERT » BISHEFRE 20 13 (11) 1.2 11 1.2
T e EIE - HEEEARRZ S 25 0.5 () 15 ° 1.5
THRBRT SEKE - (BREEE 32 | 1956) | 1.5 o 10
%l?);;) . 40 — — 10 1.5
3 :1.TDQ10 - @16 A MESE CS-30S ZHIE -
O EERI 2.( ) BAERAZBIE -
E?i B()
E — . +
%’ 20)
{HHEE : DC 4 ~ 240 V {FHERE : DC 4 ~120V
AC 4 ~ 240V AC 4 ~120V
CS-30F CS-9D CS-9B



